
Rectify

Lower

Break

Ignore

Fake

Unreal

Accurate

Corrupt

Breakable

Durable

Delicate

Crumbly

Capable

Expert

Adapt

Stupid

Comittee

Programme

Schedule

Departure

Continuous
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Q.1. The synonym of the word ‘Amend’ is______.

A).     [Correct Answer]     

B).     

C).     

D).     

Q.2. The synonym of the word ‘Authentic’ is______.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.3. The antonym of the word ‘Brittle’ is______.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.4. The antonym of the word ‘Clever’ is______.

A).     

B).     

C).     

D).     [Correct Answer]     

Q.5. Select the mis-spelt word among the given answer options.

A).     [Correct Answer]     

B).     

C).     

D).     

Q.6. Select the mis-spelt word among the given answer options.

A).     

th



Valuable

Coruption

Eruption

were

was

are

is

out

up

down

away

to keep quite

a state of poverty

to relax and enjoy

to eat without any disturbance

Territorial

Arboreal

Aquatic

None of these

Foal

Kid

Fawn

None of these

B).     

C).     [Correct Answer]     

D).     

Q.7. Fill in the blank.

Neither Manoj nor Harish_____ found suitable for the job at the interview held yesterday.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.8. Fill in the blank.

The little child was knocked _____by a car.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.9. The best expressed meaning of the idiom ‘Hand to mouth’ is_______.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.10. One word substitution for group of words, ‘Animals which live in water’ is______.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.11. The young one of animal ‘Horse’ is known as______.

A).     [Correct Answer]     

B).     

C).     

D).     

Q.12. The plural of the word ‘Tooth’ is______.



Tooths

Teeth

Teeths

Tooth

Spectrum

Specious

Species

Space

12, 20

18, 30

24, 40

27, 45

exactly one acute angle.
fcYdqy ,d U;wudks.k

exactly two acute angles.
fcYdqy nks U;wudks.k

at least two acute angles.
de ls de nks U;wudks.k

None of these
buesa ls dksbZ ugha

15

16

17

19

A).     

B).     [Correct Answer]     

C).     

D).     

Q.13. The plural of the word ‘Species’ is______.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.14. The ratio between two numbers is 3:5. If each number is increased by 4, the ratio becomes 2:3.
Find the numbers.
nks la[;kvksa ds chp dk vuqikr 3%5 gSA ;fn çR;sd la[;k esa 4 dh o`f) dh tk,] rks vuqikr
2%3 gks tkrk gSA la[;k,¡ Kkr djsaA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.15. A triangle always has
,d f=Hkqt esa ges'kk &&&&&&&& gksrk gS@gksrs gSaA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.16. The average of 11, 12, 13, 14 and X is 13. The value of X is_____.
11] 12] 13] 14 vkSj X dk vkSlr 13 gSA X dk eku &&&&&&& gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.17. A person travelled 5/8  of the distance by train, 1/4 by bus and the remining 15 km by boat.
The total distance (in km) travelled by him was _____.
,d O;fä us 5@8 nwjh Vªsu ls] 1@4 cl ls vkSj 'ks"k 15 fdeh uko ls r; dhA mlds }kjk
r; dh xbZ dqy nwjh ¼fdeh esa½ &&&&&&&& FkhA

th th



90

120

150

180

0°

30°

60°

90°

addition
tksM+

subtraction
?kVk

division
Hkkx

multiplication
xq.kk

7

12%

18

22%

81.60

80.00

72.80

A).     

B).     [Correct Answer]     

C).     

D).     

Q.18. The angle between two perpendicular lines is_____.

nks yEc js[kkvksa ds chp dk dks.k &&&&&&& gksrk gSA

A).     

B).     

C).     

D).     [Correct Answer]     

Q.19. Ratio is a method of comparing two quantities by_____.
vuqikr &&&&&&& }kjk nks ek=kvksa dh rqyuk djus dh ,d fof/k gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.20. Area of a circle with radius r units is equal to ____ square units.
f=T;k r bdkbZ okys ,d o`Ùk dk {ks=Qy &&&&&&& oxZ bdkbZ ds cjkcj gksrk gSA

A).     

B).     [Correct Answer]     
C).     
D).     

Q.21. 72% of 25 students are good in English. How many are not good at it?
25 esa ls 72% Nk= vaxzsth esa vPNs gSaA fdrus Nk= blesa vPNs ugha gSa\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.22. Find the compound interest (In Rs.) on Rs.1000 for 2 years at 4% per annum?
1000 #i;s ij 2 o"kksaZ ds fy, 4% çfr o"kZ dh nj ls pØo`f) C;kt ¼#i;s esa½ Kkr djsa\

A).     [Correct Answer]     

B).     

C).     



70.60

154

145

132

128

8%

10%

14%

16%

100

125

160

200

1

3

5

8

Guwahati
xqokgkVh

Kolkata
dksydkrk

Bhubaneswar
Hkqous'oj

Ranchi
jkaph

D).     

Q.23. Seema weaves 25 baskets in 35 days. In how many days will she weave 110 baskets?
lhek 35 fnuksa esa 25 Vksdfj;k¡ cqurh gSA og fdrus fnuksa esa 110 Vksdfj;k¡ cqusxh\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.24. A shopkeeper buys a toy for Rs.250 and sells it for Rs.285. Find his gain percent?
,d nqdkunkj 250 #i;s esa ,d f[kykSuk [kjhnrk gS vkSj mls 285 #i;s esa csprk gSA mldk
ykHk çfr'kr Kkr djsa\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.25. If 23% of X is 46, then find X.
;fn X dk 23%, 46 gS] rks X Kkr dhft,A

A).     

B).     

C).     

D).     [Correct Answer]     

Q.26. Find the odd one out among the given four answer options.
fn, x, pkj mÙkj fodYiksa esa ls dkSu lk cstksM+ gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.27. Find the odd one out among the given four answer options.
fn, x, pkj mÙkj fodYiksa esa ls dkSu lk cstksM+ gS\

A).     [Correct Answer]     

B).     

C).     

D).     



I

J

K

L

9

10

11

12

5

10

15

20

Surya
lw;kZ

Siraj
fljkt

Rohit
jksfgr

Rishabh
_"kHk

6

Q.28. Complete the series A, C, F, ?, O, U by replacing ‘?’ with the correct alternative from the given
four answer options.
fn, x, pkj mÙkj fodYiksa esa ls '?' dks çfrLFkkfir djds J`a[kyk A, C, F, ?, O, U dks iwjk
djsaA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.29. Complete the series 1, 3, 6, ?, 15, 21, 28 by replacing ‘?’ with the correct alternative from the
given four answer options.
fn, x, pkj mÙkj fodYiksa esa ls ‘?’ çfrLFkkfir djds J`a[kyk 1, 3, 6, ?, 15, 21, 28 dks iwjk
djsaA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.30. The present age of Manoj is 10 years and he is double the age of his sister. What will be the age
difference (in years) between them after 10 years from now?
eukst dh orZeku vk;q 10 o"kZ gS vkSj og viuh cgu dh vk;q ls nksxquk gSA vc ls 10 o"kZ
ckn muds chp vk;q dk varj ¼o"kksaZ esa½ D;k gksxk\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.31. Rohit’s mother has only two children. The name of one child is Virat, what is the name of
second child?
jksfgr dh ek¡ ds dsoy nks cPps gSaA ,d cPps dk uke fojkV gS rks nwljs cPps dk uke D;k
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.32. Sakshi is twice as old as Laxmi. Three years ago, Sakshi was three times as old as Laxmi. How
old (in years) is Sakshi now?
lk{kh dh mez y{eh ls nksxquh gSA rhu lky igys] lk{kh dh mez y{eh ls rhu xquk FkhA
lk{kh dh vc fdruh mez ¼o"kksaZ esa½ gS\

A).     



8

10

12

Tomorrow
dy

Today
vkt

Day after tomorrow
ijlksa

None of these
buesa ls dksbZ ugha

North-east
mÙkj&iwoZ

North
mÙkj

North-west
mÙkj&if'pe

East
iwoZ

Sister-in-law
HkkHkh

Brother-in-law
nsoj

Daughter
csVh

Mother-in-law
lkl

Ram
jke

Ramesh
jes'k

B).     

C).     

D).     [Correct Answer]     

Q.33. If the day before yesterday was Wednesday, when will Saturday be?
;fn ijlksa cq/kokj Fkk] rks 'kfuokj dc gksxk\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.34. Going 40 meter to the South of his house, Shubham turns left and goes another 15 meter.
Then, turning to the North, he goes 20 meter and then he starts walking towards his house
which is in _____direction.
vius ?kj ls 40 ehVj nf{k.k dh vksj tkrs gq,] 'kqHke ck;ha vksj eqM+rk gS vkSj 15 ehVj vkSj
pyrk gSA fQj] mÙkj dh vksj eqM+dj] og 20 ehVj pyrk gS vkSj fQj vius ?kj dh fn'kk esa
pyuk 'kq: djrk gS tks &&&&&&& fn'kk esa gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.35. A is the father of C, and D is son of B. E is brother of A. If C is sister of D, how is B related to E?
A, C dk firk gS vkSj D, B dk iq= gS] E, A dk HkkbZ gSA ;fn C, D dh cgu gS] rks B dk E
ls D;k lEcU/k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.36. Mukesh is heavier than Ramesh but lighter than Ram. Bhuwan is heavier than Ram. Shiv is
lighter than Ramesh. Who among them is the heaviest?
eqds'k] jes'k ls Hkkjh gS ysfdu jke ls gYdk gSA Hkqou] jke ls Hkkjh gSA f'ko] jes'k ls gYdk
gSA muesa ls dkSu lcls Hkkjh gS\

A).     

B).     



Bhuwan
Hkqou

Mukesh
eqds'k

32156

13625

21365

31265

Kartavya Path
drZO; iFk

Sourya Path
lkS;Z iFk

Adarsha Path
vkn'kZ iFk

Prakarma Path
çkdeZ iFk

Hockey
g‚dh

Football
QqVc‚y

Cricket
fØdsV

Chess
'krjat

14 November
14 uoacj

02 October
02 vDVwcj

31 January
31 tuojh

25 December
25 fnlacj

C).     [Correct Answer]     

D).     

Q.37. If ADITI is coded as 54131 and SHOBA is coded as 26985, then how would you encode TISHA?
;fn ADITI dks 54131 ds :i esa dksfMr fd;k x;k gS vkSj SHOBA dks 26985 ds :i esa
dksfMr fd;k x;k gS] rks vki TISHA dks dSls dksfMr djsaxs\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.38. What is the new name of 'Rajpath' where Republic Day Parade celebration in Delhi takes place?
jktiFk dks D;k u;k uke fn;k x;k tgka fnYyh esa x.kra= fnol ijsM lekjksg gksrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.39. Virat Kohli is a famous ______ player of India.
fojkV dksgyh Hkkjr ds ,d çfl) &&&&&&&& f[kykM+h gSaA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.40. Birthday of Mahatma Gandhi is celebrated every year in India on _______.
Hkkjr esa gj lky egkRek xka/kh dk tUefnu &&&&&&&& dks euk;k tkrk gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.41. Imphal is the state capital of________.
baQky &&&&&&&& jkT; dh jkt/kkuh gSA



Manipur
ef.kiqj

Assam
vle

Mizoram
fetksje

Sikkim
flfDde

6

7

8

9

Gujarat
xqtjkr

Maharashtra
egkjk"Vª

Rajasthan
jktLFkku

Karnataka
dukZVd

Italy
bVyh

Egypt
felz

Qatar
drj

France
Ýkal

Leaves
ifÙk;k¡

Flowers
Qwy

Roots
tM+sa

A).     [Correct Answer]     

B).     

C).     

D).     

Q.42. South Asian Association for Regional Cooperation (SAARC) is an association of_____ nations.
nf{k.k ,f'k;kbZ {ks=h; lg;ksx la?k (SAARC) &&&&&&& jk"Vªksa dk ,d la?k gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.43. World famous ‘Statue of Unity’, world’s tallest statue, built in the memory of Sardar
Vallabhbhai Patel is located in________.
ljnkj oYyHk HkkbZ iVsy dh Le`fr esa cuh fo'o çfl) ^LVSP;w v‚Q ;wfuVh*] nqfu;k dh lcls
Åaph çfrek &&&&&&&&& esa fLFkr gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.44. President of which country was the chief guest for India’s Republic Day parade celebration on
26 January 2024?
26 tuojh 2024 dks Hkkjr ds x.kra= fnol ijsM lekjksg ds eq[; vfrfFk fdl ns'k ds
jk"Vªifr Fks\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.45. Which part of the plant is called its food factory?
ikS/ks ds fdl Hkkx dks mldk [kk| dkj[kkuk dgk tkrk gS\

A).     [Correct Answer]     

B).     

C).     



Stem
ruk

heart.
ân;

kidneys.
xqnsZ

liver.
yhoj

brain.
efLr"d

filtration
fuLianu

condensation
la?kuu

sedimentation
volknu

decantation
fuLlkj.k

electrical
fo|qr

mechanical
;kaf=d

chemical
jklk;fud

solar
lkSj

hour.
?kaVs

day.
fnu

month.
eghus

year.
o"kZ

D).     

Q.46. In human body, blood is filtered by the
ekuo 'kjhj esa &&&&&&&& }kjk jä dks fQYVj fd;k tkrk gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.47. Process of changing water vapor into water is called______.
tyok"i dks ikuh esa cnyus dh çfØ;k dks &&&&&&&&& dgk tkrk gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.48. In a battery cell, the energy is stored in it in the form of______ energy.
,d cSVjh lsy esa ÅtkZ] &&&&&&&&& ÅtkZ ds :i esa laxzfgr gksrh gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.49. The Earth completes one revolution around the Sun in about one
i`Foh] lw;Z ds pkjksa vksj ,d pDdj yxHkx ,d &&&&&&&& esa iwjk djrh gS

A).     

B).     

C).     

D).     [Correct Answer]     

Q.50. In India, which house of the Parliament is also known as “the House of the People”?
Hkkjr esa laln ds fdl lnu dks ^turk dk lnu* Hkh dgk tkrk gS\

A).     



Rajya Sabha
jkT;lHkk

Lok Sabha
yksdlHkk

Both, Rajya Sabha and Lok Sabha
jkT;lHkk vkSj yksdlHkk] nksuksa

None of these
buesa ls dksbZ ugha

Current
/kkjk

Voltage
oksYVst

Phase angle
Qst dks.k

Power factor
ÅtkZ ?kVd

Capacitor
la/kkfj=

Diode
Mk;ksM

Transistor
VªkaftLVj

Resistor
vojks/k

Transistor
VªkaftLVj

Relay
fjys

Diode
Mk;ksM

Inductor
baMDVj

8 A

16 A

B).     [Correct Answer]     

C).     

D).     

Q.51. In poly-phase circuits, what determines whether the load is balanced or unbalanced?
i‚yh&Qst lfdZV esa] ;g D;k fu/kkZfjr djrk gS fd yksM larqfyr gS ;k vlarqfyr gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.52. Which component is responsible for converting electrical energy into heat in heating element
equipment?
ghfVax rRo midj.k esa fo|qr ÅtkZ dks Å"ek esa ifjofrZr djus ds fy, dkSu lk ?kVd
ftEesnkj gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.53. What is the name of the device that allows current to flow in one direction only?
ml midj.k dk D;k uke gS tks /kkjk dks dsoy ,d fn'kk esa çokfgr djus dh vuqefr nsrk
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.54. In a DC circuit, if the voltage is 12 volts and the resistance is 4 ohms, what is the current
flowing through the circuit?
Mhlh lfdZV esa] ;fn oksYVst 12 oksYV gS vkSj çfrjks/k 4 vkse gS] rks lfdZV ds ek/;e ls
cgus okyh /kkjk D;k gS\

A).     

B).     [Correct Answer]     



48 A

3 A

It converts electricity into light
;g fctyh dks çdk'k esa ifjofrZr djrk gS

It blocks all current
;g lHkh djaV dks Cy‚d dj nsrk gS

It allows current to flow in both directions
;g /kkjk dks nksuksa fn'kkvksa esa çokfgr djus dh vuqefr nsrk gS

It converts light into electricity
;g çdk'k dks fctyh esa ifjofrZr djrk gS

It decreases
de gks tkrh gS

It fluctuates
mrkj&p<+ko gksrk gS

It increases
c<+rh gS

It remains constant
fLFkj jgrk gS

Frequency
vko`fÙk

Voltage
oksYVst

Power factor
ÅtkZ ?kVd

Current
djaV

Amplifier circuit
,EiyhQk;j lfdZV

Chopper circuit
p‚ij lfdZV

Rectifier circuit

C).     

D).     

Q.55. How does an LED differ from a regular diode in function?
,d ,ybZMh dk;Z esa fu;fer Mk;ksM ls fdl çdkj fHkUu gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.56. In a series circuit, what happens to the total resistance as more resistors are added?
,d J`a[kyk ifjiFk esa] vf/kd çfrjks/kd tqM+us ij dqy çfrjks/k dk D;k gksrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.57. Which characteristic of an alternator is crucial for ensuring synchronization during parallel
operation?
lekukarj lapkyu ds nkSjku flaØukbts'ku lqfuf'pr djus ds fy, vYVjusVj dh dkSu lh
fo'ks"krk egRoiw.kZ gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.58. What is the name of the given circuit?
fn, x, lfdZV dk uke D;k gS\

A).     

B).     [Correct Answer]     

C).     



jsfDVQk;j lfdZV

Inverter circuit
bUoVZj lfdZV

Class A
Dykl A

Class B
Dykl B

Class C
Dykl C

Class D
Dykl D

Resistor
vojks/k

Capacitor
la/kkfj=

Diode
Mk;ksM

Transistor
VªkaftLVj

Iron
yksgk

Copper
rk¡ck

Aluminum
vY;qehfu;e

Silver
pk¡nh

Outlet
vkmVysV

Light Fixture
çdk'k fLFkjrk

Ground Connection
tehuh dusD'ku

None of these
buesa ls dksbZ ugh

D).     

Q.59. Which type of fire extinguisher is suitable for electrical fires?
fo|qrh; vkx ds fy, fdl çdkj dk vfXu'kked ;a= mi;qä gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.60. What is the name of the component that is used to store electrical charge in a circuit?
ml ?kVd dk uke D;k gS ftldk mi;ksx lfdZV esa fo|qr vkos'k dks laxzghr djus ds fy,
fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.61. Which of the following is not a type of conductor commonly used in electrical applications?
fuEufyf[kr esa ls dkSu lk vkerkSj ij fo|qr vuqç;ksxksa esa mi;ksx fd;k tkus okyk daMDVj
dk çdkj ugha gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.62. What does a circle with a cross inside, represent in an electrical schematic?
fo|qr js[kkfp= esa vanj ,d Ø‚l okyk o`Ùk D;k n'kkZrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     



Screwdriver
isapdl

Wire cutter
rkj dk dVj

Pliers
fpeVk

Wire stripper
ok;j fLVªij

0 degree
0 fMxzh

90 degrees
90 fMxzh

180 degrees
180 fMxzh

45 degrees
45 fMxzh

80 A

120 A

500 A

5 A

40 A

120 A

4.17 A

500 A

Red

Q.63. What is the name of the tool that is commonly used for stripping insulation from electrical
wires?
ml midj.k dk uke D;k gS ftldk mi;ksx vkerkSj ij fctyh ds rkjksa ls bUlqys'ku
gVkus ds fy, fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.64. In an AC circuit, what is the phase difference between voltage and current in a purely resistive
load?
,d ,lh lfdZV esa] fo'kq) :i ls çfrjks/kd Hkkj esa oksYVst vkSj djaV ds chp pj.k varj
D;k gksrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.65. If a circuit has a resistance of 20 ohms and a voltage of 100 volts, what is the current flowing
through it?
;fn fdlh lfdZV esa 20 vkse dk çfrjks/k vkSj 100 oksYV dk oksYVst gS] rks blds ek/;e ls
çokfgr gksus okyh /kkjk D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.66. If an electrical appliance consumes 500 watts of power and operates at 120 volts, what is the
current flowing through it?
;fn dksbZ fo|qr midj.k 500 okV fctyh dh [kir djrk gS vkSj 120 oksYV ij pyrk gS]
rks blds ek/;e ls çokfgr gksus okyh /kkjk D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.67. What color is typically used for indicating ground wires in electrical installations?
bysfDVªdy baLVkys'ku esa xzkmaM rkjksa dks bafxr djus ds fy, vkerkSj ij fdl jax dk
mi;ksx fd;k tkrk gS\

A).     



yky

Green
gjk

Yellow
ihyk

Blue
uhyk

Soldering
Vkadus dh fØ;k

Dismantling
/oLr

Welding
osfYMax

None of these
buesa ls dksbZ ugh

Three-phase induction motor
rhu pj.k çsj.k eksVj

Single-phase induction motor
flaxy Qst baMD'ku eksVj

Synchronous induction motor
rqY;dkfyd çsj.k eksVj

Series induction motor
J`a[kyk çsj.k eksVj

To generate electrical power
fo|qr 'kfä mRiUu djus ds fy,

To convert electrical power into mechanical power
fo|qr 'kfä dks ;kaf=d 'kfä esa ifjofrZr djuk

B).     [Correct Answer]     

C).     

D).     

Q.68. Which process involves breaking down heating element equipment into its individual
components?
fdl çfØ;k esa ghfVax rRo midj.k dks mlds vyx&vyx ?kVdksa esa rksM+uk 'kkfey gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.69. Which type of induction motor is shown in the below image?
uhps nh xbZ Nfo esa fdl çdkj dh baMD'ku eksVj fn[kkbZ xbZ gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.70. In an MG set, what is the function of the motor?
,eth lsV esa] eksVj dk dk;Z D;k gS\

A).     

B).     



To provide mechanical power to drive the generator
tujsVj dks pykus ds fy, ;kaf=d 'kfä çnku djuk

None of these
buesa ls dksbZ ugha

To regulate voltage
oksYVst dks fofu;fer djus ds fy,

To convert AC to DC
AC dks DC esa cnyus ds fy,

To generate alternating current
çR;korhZ /kkjk mRiUu djus ds fy,

To provide amplification
ço/kZu çnku djuk

Synchronous motor
flaØksu‚;l eksVj

Induction motor
baMD'ku eksVj

DC motor
DC eksVj

Universal motor
;wfuolZy eksVj

Commutator
dE;wVsVj

Armature
vkesZpj

Rotor
jksVkj

Field winding
QhYM okbafMax

Planning phase
;kstuk pj.k

Testing phase
ijh{k.k pj.k

Final fixing phase

C).     [Correct Answer]     

D).     

Q.71. What is the main function of diodes in a bridge rectifier circuit?
fczt jsfDVQk;j lfdZV esa Mk;ksM dk eq[; dk;Z D;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.72. What is the name of the motor that rotates at a constant speed synchronized with the
frequency of the supplied AC voltage?
ml eksVj dk uke D;k gS tks vkiwfrZ dh xbZ ,lh oksYVst dh vko`fÙk ds lkFk fLFkj xfr ls
?kwerh gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.73. Which component of a generator produces the magnetic field required for electromagnetic
induction?
tujsVj dk dkSu lk ?kVd fo|qr pqEcdh; çsj.k ds fy, vko';d pqacdh; {ks= mRiUu djrk
gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.74. In which phase of electrical installation are wiring accessories like switches and sockets
typically installed?
fo|qr LFkkiuk ds fdl pj.k esa fLop vkSj l‚dsV tSls ok;fjax lgk;d midj.k vkerkSj ij
LFkkfir fd, tkrs gSa\

A).     

B).     

C).     [Correct Answer]     



vafre fu/kkZj.k pj.k

Cable laying phase
dscy fcNkus dk pj.k

Polarization Index (PI) test
iksyjkbts'ku baMsDl ¼PI½ VsLV

Power Factor (PF) test
ikoj QSDVj ¼PF½ VsLV

Hipot (High Potential) test
fgiksV ¼gkbZ iksVsaf'k;y½ VsLV

None of these
buesa ls dksbZ ugha

Fuse
¶;wt

MCB
,elhch

Contactor
d‚UVSDVj

RCCB
vkjlhlhch

To increase resistance in the circuit
lfdZV esa çfrjks/k c<+kus ds fy,

To decrease conductivity
pkydrk de djus ds fy,

To generate electricity
fctyh iSnk djus ds fy,

To connect conductors securely
daMDVjksa dks lqjf{kr :i ls tksM+us ds fy,

Voltage regulation
oksYVst vf/kfu;e

Current amplification
fo|qr ço/kZu

D).     

Q.75. Which test ensures the continuity and insulation of various AC motors?
dkSu lk VsLV fofHkUu AC eksVjksa dh d‚fUVuqbVh vkSj bUlqys'ku lqfuf'pr djrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.76. Which component is commonly used for overload and short circuit protection in electrical
circuits?
fo|qr ifjiFkksa esa vksojyksM vkSj 'k‚VZ lfdZV laj{k.k ds fy, vkerkSj ij fdl ?kVd dk
mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.77. What is the purpose of the below techniques in electrical work?
fo|qr dk;Z esa fuEufyf[kr rduhdksa dk mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.78. In power electronics, what is the function of a snubber circuit?
ikoj bysDVª‚fuDl esa] Lucj lfdZV dk D;k dk;Z gS\

A).     

B).     



Phase shifting
pj.k LFkkukarj.k

Surge suppression
o`f) neu

4Ω

6Ω

3Ω

8Ω

Control switch operation
fu;a=.k fLop lapkyu

Regulate voltage
oksYVst dks fu;af=r djuk

Provide backup power
cSdvi ikoj çnku djuk

Monitor temperature
rkieku dh fuxjkuh djuk

Capacitor
la/kkfj=

Resistor
vojks/k

Inductor
baMDVj

Circuit breaker
ifjiFk fo;kstd

Resistor
vojks/k

Connector
;kstd

Fuse
¶;wt

Capacitor
la/kkfj=

C).     

D).     [Correct Answer]     

Q.79. In a parallel circuit with two resistors, if one resistor is 6Ω and the total resistance is 2Ω, what is
the resistance of the second resistor?

nks çfrjks/kdksa okys ,d lekukarj ifjiFk esa] ;fn ,d çfrjks/kd 6Ω gS vkSj dqy çfrjks/k
2Ω gS] rks nwljs çfrjks/kd dk çfrjks/k D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.80. In a voltage stabilizer, what is the main function of a relay?
oksYVst LVscykbtj esa] fjys dk eq[; dk;Z D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.81. Which component of a distribution system protects against overvoltage?
forj.k ç.kkyh dk dkSu lk ?kVd vksojoksYVst ls cpkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.82. Which type of fitting is used to join electrical wires together?
fo|qr rkjksa dks vkil esa tksM+us ds fy, fdl çdkj dh fQfVax dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.83. In an electrical circuit, what does an ammeter measure?



Voltage
oksYVst

Resistance
çfrjks/k

Power
ikoj

Current
djaV

Thyristor control
FkkbfjLVj fu;a=.k

Gear system
fx;j ç.kkyh

Hydraulic couplings
gkbMªksfyd difyax

Pneumatic control
ok;oh; fu;a=.k

Current decreases
djaV de gks tkrk gS

Current becomes zero
djaV 'kwU; gks tkrk gS

Current increases
djaV c<+rk gS

Current remains constant
djaV fLFkj jgrk gS

Parallel circuit
lekukarj lfdZV

Series circuit
lhjht lfdZV

Combination circuit
la;kstu lfdZV

None of these
buesa ls dksbZ ugha

fo|qr ifjiFk esa ,ehVj D;k ekirk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.84. For speed control of DC motors, which of the following is widely used?

DC eksVjksa dh xfr fu;a=.k ds fy, fuEufyf[kr esa ls fdldk O;kid :i ls mi;ksx fd;k
tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.85. If the resistance in a circuit remains constant but the voltage increases, what happens to the
current?
;fn fdlh ifjiFk esa çfrjks/k fLFkj jgrk gS ysfdu oksYVst c<+rk gS] rks djaV dk D;k gksrk
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.86. When two or more resistors are connected end-to-end to form a single path for current flow,
what type of circuit configuration is created?
tc nks ;k nks ls vf/kd çfrjks/kd /kkjk çokg ds fy, ,dy iFk cukus ds fy, var&ls&var
rd tqM+s gksrs gSa] rks fdl çdkj dk lfdZV d‚fUQxjs'ku curk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.87. In a poly-phase circuit, what is the phase difference between two adjacent phases in a three-
phase system?
,d cgq&pj.k lfdZV esa] rhu&pj.k ç.kkyh esa nks vklUu pj.kksa ds chp pj.k varj D;k gS\



120 degrees
120 fMxzh

90 degrees
90 fMxzh

180 degrees
180 fMxzh

360 degrees
360 fMxzh

Varying the voltage of the input power
buiqV ikoj dk oksYVst cnyuk

Adjusting the armature resistance
vkesZpj çfrjks/k dks lek;ksftr djuk

Changing the number of poles
/kzqoksa dh la[;k cnyuk

Varying the frequency of the input power
buiqV ikoj dh vko`fÙk dks cnyuk

Open circuit
[kqyk lfdZV

Short circuit
'kkVZ lfdZV

Good insulation
vPNk bUlqys'ku

High resistance
mPp çfrjks/k

Good insulation
vPNk bUlqys'ku

Poor insulation
[k+jkc bUlqys'ku

Short circuit
'kkVZ lfdZV

Open circuit
[kqyk lfdZV

0 volt
0 oksYV

Infinite resistance
vuar çfrjks/k

High current

A).     [Correct Answer]     

B).     

C).     

D).     

Q.88. Which technique is used for speed control in alternators?
vYVjusVj esa xfr fu;a=.k ds fy, fdl rduhd dk ç;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.89. What does a low resistance reading on a multimeter indicate?
eYVhehVj ij de çfrjks/k jhfMax D;k n'kkZrh gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.90. What does a high resistance reading on an insulation tester indicate?
bUlqys'ku ijh{kd ij mPp çfrjks/k jhfMax D;k bafxr djrh gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.91. During continuity testing, if a circuit is open, what reading would typically be observed?
fujarjrk ijh{k.k ds nkSjku] ;fn dksbZ lfdZV [kqyk gS] rks vkerkSj ij dkSu lh jhfMax ns[kh
tk,xh\

A).     

B).     [Correct Answer]     

C).     



mPp djaV

Low voltage
de oksYVst

To increase electrical conductivity
fo|qr pkydrk c<+kus ds fy,

To reduce voltage fluctuations
oksYVst ds mrkj&p<+ko dks de djus ds fy,

To regulate electrical flow
fo|qr çokg dks fofu;fer djus ds fy,

To protect wires from mechanical damage
rkjksa dks ;kaf=d {kfr ls cpkus ds fy,

Switch
fLop

Connector
;kstd

Socket
l‚dsV

Fuse
¶;wt

Ground
xzkmaM

Fuse
¶;wt

Switch
fLop

Transformer
VªkalQkeZj

Silver
pk¡nh

Aluminum
vY;qehfu;e

PVC
ihohlh

Copper
rk¡ck

D).     

Q.92. What is the function of conduits in electrical wiring systems?
fo|qr ok;fjax ç.kkfy;ksa esa daMîwV~l dk D;k dk;Z gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.93. Which wiring accessory is used to join two or more electrical wires together?
nks ;k nks ls vf/kd fo|qr rkjksa dks ,d lkFk tksM+us ds fy, fdl ok;fjax lgk;d midj.k
dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.94. What does the symbol  represent in electrical wiring diagrams?
fo|qr ok;fjax vkjs[k esa çrhd  D;k n'kkZrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.95. Which material is frequently employed as an insulator in electrical wiring?
fo|qr rkjksa esa bUlqysVj ds :i esa fdl lkexzh dk vDlj mi;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.96. According to Ohm's Law, what happens to the current in a circuit if the resistance is increased?
vkse ds fu;e ds vuqlkj] ;fn çfrjks/k c<+k fn;k tk, rks lfdZV esa /kkjk dk D;k gksxk\



Current remains the same
djaV ogh jgrk gS

Current decreases
djaV de gks tkrk gS

Voltage increases
oksYVst c<+ tkrk gS

Current increases
djaV c<+rk gS

Carbon film resistor
dkcZu fQYe vojks/kd

Variable resistor
ifjorhZ vojks/kd

Wirewound resistor
rkj yisVus okyk vojks/kd

Thermistor
FkfeZLVj

Replace the cord immediately
d‚MZ dks rqjar cnyuk

Wrap the frayed area with a cloth
QVs gq, fgLls dks diM+s ls yisVuk

Use electrical tape to cover the frayed area
फटे हुए क्षेत्र को ढकने के  लिए बिजली के  टेप का उपयोग करना 
Cut off the frayed section and splice the cord back together
VwVs gq, Hkkx dks dkV nsuk vkSj Mksjh dks okil tksM+ nsuk

Pipe earthing
ikbi vfFkaZx

Rod earthing
j‚M vfFkaZx

Plate earthing
IysV vfFkaZx

Chemical earthing
jklk;fud vfFkaZx

Ohm's law
vkse dk fu;e

q

A).     

B).     [Correct Answer]     

C).     

D).     

Q.97. Which type of resistor has a resistance value that changes with temperature?
fdl çdkj ds çfrjks/kd dk çfrjks/k eku rkieku ds lkFk cnyrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.98. Which of the following is the most appropriate action when encountering a frayed electrical
cord?
fdlh ttZj fo|qr rkj dk lkeuk djrs le; fuEufyf[kr esa ls dkSu lh dkjZokbZ lcls
mi;qä gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.99. What type of earthing is commonly used for electrical safety in buildings?
bekjrksa esa fo|qr lqj{kk ds fy, vkerkSj ij fdl çdkj dh vfFkaZx dk mi;ksx fd;k tkrk
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.100. Which law describes the total current entering and leaving a junction in a circuit?
dkSu lk fu;e fdlh lfdZV esa taD'ku esa ços'k djus vkSj NksM+us okyh dqy /kkjk dk o.kZu
djrk gS\

A).     



Kirchhoff's law
fdjp‚Q dk fu;e

Faraday's law
QSjkMs dk fu;e

Newton's law
U;wVu dk fu;e

Lux
yDl

Candela
dSUMsyk

Lumen
yqesu

Watt
okV

Lorentz Law
yksjsaRt y‚

Lenz' Law
ysat y‚

Faraday's Law
QSjkMs y‚

Ampere's circuital Law
,Eis;j lfdZV y‚

1 coulomb per second
1 dwyEc çfr lsdaM

1 ampere per minute
1 ,Eis;j çfr feuV

1 coulomb second
1 dwyEc lsdaM

1 ampere minute
1 ,Eis;j feuV

To protect copper sheath of cable from corrosion.
dscy ds rkacs ds vkoj.k dks tax ls cpkus ds fy,

To protect cable from moisture in the soil.
dscy dks feêh esa ueh ls cpkus ds fy,

To provide the cable more flexibility.
dscy dks vf/kd yphykiu çnku djus ds fy,

To protect cable from mechanical injuries.
dscy dks ;kaf=d pksVksa ls cpkus ds fy,

B).     [Correct Answer]     

C).     

D).     

Q.101. In the SI system, what is the unit of luminous intensity?
,l-vkbZ ç.kkyh esa] mTToy rhozrk dh ek=d D;k gksrh gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.102. Which law states that emf generated according to Faraday’s law is negative?
dkSu lk fu;e crkrk gS fd QSjkMs ds fu;e ds vuqlkj mRiUu bZ,e,Q usxsfVo gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.103. What amount of charge can flow in 1 unit of current?
1 bdkbZ /kkjk esa fdruh ek=k dk vkos'k çokfgr gks ldrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.104. What is the primary function of armouring?
dop dk çkFkfed dk;Z D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     



R-Y-B

R-B-Y

Y-R-B

Y-B-R

Because of the motion in charges.
pktsZl esa xfr ds dkj.k

Because it stores energy when kept in a magnetic field.
D;ksafd pqacdh; {ks= esa j[ks tkus ij ;g ÅtkZ LVksj djrk gS

Because electrons remain at rest on the surface.
D;ksafd bysDVª‚u lrg ij foJke voLFkk esa jgrs gSa

None of these
buesa ls dksbZ ugha

V(G) = 1V

V(G) = 0

V(G) = 2R1

V(G) = 4R1

Q.105. With reference to the given image, when light from lamp 1 becomes dimmer and light from
lamp 2 becomes brighter, which phase sequence is determined?

nh xbZ Nfo ds lanHkZ esa] tc ySai 1 ls çdk'k ean gks tkrk gS vkSj ySai 2 ls çdk'k rst gks
tkrk gS] rks dkSu lk pj.k Øe fu/kkZfjr fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.106. How come a conductor has no magnetic field?
fdlh daMDVj ds ikl dksbZ pqacdh; {ks= dSls ugha gksrk\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.107. With reference to the given image, if R2/R1 is equal to R4/R3, what will be the voltage
between the two points C and D?
nh xbZ Nfo ds lanHkZ esa] ;fn R2 /R1, R4 /R3 ds cjkcj gS] rks nks fcanqvksa C vkSj D ds chp
oksYVst D;k gksxk\

Wheatstone's Bridge

A).     

B).     [Correct Answer]     

C).     

D).     

Q.108. What is the unit of magnetic flux density?
pqacdh; çokg ?kuRo dh bdkbZ D;k gS\



Watt
o‚V

Volt
okYV

Tesla
VsLyk

Ohm
vksã

Twisted joint
fV~oLVsM tksM+

Married joint
eSfjM tksM+

Straight joint
LVªSV tksM+

Western union joint
osLVuZ ;wfu;u tksM+

VLF test
oh,y,Q VsLV

Sheath test
'khFk VsLV

PD test
ihMh VsLV

Open circuit test
vksiu lfdZV VsLV

Compact design
d‚EiSDV fMtkbu

Highly reliable
gkbyh fjykb,cy

Less control over power
ÅtkZ ij dke fu;a=.k

Thermal management
FkeZy eSustesaV

A).     

B).     

C).     [Correct Answer]     

D).     

Q.109. Which type of electrical joint is shown in the given image?
uhps nh xbZ Nfo esa fdl çdkj dk fo|qr tksM+ fn[kk;k x;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.110. Which test is best for identifying a cable failure that is difficult to find?

dscy foQyrk dh igpku djus ds fy, dkSu lk ijh{k.k lcls vPNk gS जिसे ढूं ढना
मुश्किल है?

A).     

B).     

C).     [Correct Answer]     

D).     

Q.111. What challenges are faced in the field of power electronics?
ikoj bysDVª‚fuDl ds {ks= esa fdu pqukSfr;ksa dk lkeuk djuk iM+rk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.112. What is the role of the given logic gate?



All inputs must be positive, and all outcomes are positive.
lHkh buiqV ldkjkRed gksus pkfg, vkSj lHkh ifj.kke ldkjkRed gksus pkfg,

Same as AND, but the outcome is inverse.
AND ds leku] ysfdu ifj.kke foijhr gS

Only one input is positive to give a positive output.
ldkjkRed vkmViqV nsus ds fy, dsoy ,d buiqV ldkjkRed gS

None of these
इनमें से कोई नहीं

To exhibit excellent magnetic permeability.
mR—"V pqacdh; ikjxE;rk çnf'kZr djus ds fy,

To control the sensitivity of the instrument.
midj.k dh laosnu'khyrk dks fu;af=r djus ds fy,

To ensure that the moving iron moves smoothly and without any resistance.
;g lqfuf'pr djuk fd xfr'khy yksgk lqpk: :i ls vkSj fcuk fdlh çfrjks/k ds pys

None of these
इनमें से कोई नहीं

To accelerate the electron beam to create an image.
,d Nfo cukus ds fy, bysDVª‚u fdj.k dks rst djuk

To produce the saw-tooth voltage waveform.
l‚&VwFk oksYVst rjax:i osoQ‚eZ

To supply the required operating voltages to all circuits.
lHkh lfdZVksa dks vko';d v‚ijsfVax oksYVst dh vkiwfrZ djuk

None of these
इनमें से कोई नहीं

Lux
yDl

Candela

bl y‚ftd xsV dh D;k Hkwfedk gS\

NAND

A).     

B).     [Correct Answer]     

C).     

D).     

Q.113. When designing moving instruments of the attraction type, what is the use of the piston?
vkd"kZ.k çdkj ds xfreku midj.kksa dks fMtkbu djrs le; fiLVu dk D;k mi;ksx gksrk
gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.114. What is the function of CRT in the below image?
uhps nh xbZ Nfo esa CRT dk D;k dk;Z gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.115. What is the SI unit of thermodynamic temperature?
FkeksZMk;ukfed rkieku dh SI bdkbZ D;k gS\

A).     

B).     



daMsyk

Lumen
Y;wesu

Kelvin
dsfYou

Induced voltage in volts
oksYV esa çsfjr oksYVst

Number of turns in the coil
d‚by esa ?kqeko dh la[;k

Rate of change of current
djaV esa cnyko dh nj

Rate of change of magnetic flux in webers per second
çfr lsdaM osclZ esa pqacdh; çokg ds ifjorZu dh nj

Electrolytic capacitors
bysDVªksykbfVd dSisflVj

Ceramic capacitors
fljsfed dSisflVj

Axial style capacitors
,fDl;y LVkby dSisflVj

Paper capacitors
dkxt dSisflVj

1–B, 2-C, 3-A

1–A, 2-C, 3-B

1–A, 2-B, 3-C

1–B, 2-A, 3-C

C).     

D).     [Correct Answer]     

Q.116. What is the meaning of the expression  in the formula  of self
induction?
Lo&çsj.k ds lw=  esa vfHkO;fä  dk D;k vFkZ gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.117. Which of the following is a type of film capacitor?
fuEufyf[kr esa ls dkSu lk ,d çdkj dk fQYe dSisflVj gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.118. Match the related terms given in Column 1 to their respective definitions given in Column 2.
dkWye 1 esa fn, x, lacaf/kr 'kCnksa dks dkWye 2 esa nh xbZ mudh lacaf/kr ifjHkk"kkvksa ls feyk,¡A

A).     

B).     [Correct Answer]     

C).     

D).     



Power transmission
fo|qr ikjs"k.k

Potential difference
laHkkfor varj

Voltage drop
oksYVst ?kVko

Voltage stability
oksYVst fLFkjrk

A straight line

,d LVªsV ykbu

A zigzag line

,d ftxtSx ykbu

A circle

,d lfdZy

A triangle

,d Vªk;axy

Anode
,uksM

Cathode
dsFkksM

Anode and cathode both
,uksM vkSj dsFkksM nksuksa

Electrolyte
bysDVªksykbV

Electromotive force
,ysDVªkseksVho QkslZ

Electromagnetic field
bysDVªkseSXusfVd {ks=

Electrostatic force
bysDVªksLVsfVd QkslZ

Electrical circuit
bysfDVªdy lfdZV

Q.119. In which process does the voltage difference arise between the two ends of an electric device
as the charge's movement slows down?
fdl çfØ;k esa pktZ dh xfr /kheh gksus ij fo|qr midj.k ds nksuksa fljksa ds chp oksYVst
varj mRiUu gksrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.120. What does a resistor symbol in a circuit diagram resemble?

lfdZV Mk;xzke esa jsflLVj flECy fdlls feyrk tqyrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.121. Where does the oxidation reaction take place in an electrolytic cell?
bysDVªksykbfVd lsy esa v‚Dlhdj.k çfrfØ;k dgk¡ gksrh gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.122. Which of the following is represented by the symbol  ?

fuEufyf[kr esa ls fdls  çrhd }kjk n'kkZ;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     



Photoelectric effect
çdk'k fo|qr çHkko

Photo-voltaic effect
QksVks oksYVsbd çHkko

Magnus effect
ekXul çHkko

Hall effect
g‚y çHkko

Permanent Magnet
LFkk;h pqacd

Coil as an electromagnet
,d fo|qr pqEcd ds :i esa d‚by

Bar Magnet
ckj pqEcd

Superconductor Magnet
lqijdaMDVj pqacd

Amperes
,Eih;j

Watt
o‚V

Ohms
vkse

None of these
इनमें से कोई नहीं

Observational errors
v‚CtosZ'kuy =qfV

Gross errors
xz‚l =qfV

Instrumental errors
baLVªqesaVy =qfV

Random errors
jSaMe =qfV

5 Amperes current rating circuits
5 ,Eih;j djaV jsfVax lfdZV

10 Amperes current rating circuits

Q.123. On what principle do solar cells work?

lkSj lsy fdl fl)kar ij dk;Z djrs gSa\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.124. What type of magnet does a moving iron instrument use?
xfr'khy ykSg midj.k fdl çdkj ds pqacd dk mi;ksx djrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.125. In which units can inductive and capacitive reactances be measured?
vkxeukRed vkSj dSisflfVo çfrfØ;kvksa dks fdu bdkb;ksa esa ekik tk ldrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.126. Which type of error arises from improper apparatus settings or incorrect observations?
vuqfpr midj.k lsfVaXl ;k xyr voyksduksa ls fdl çdkj dh =qfV mRiUu gksrh gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.127. Which electric circuit is used for higher power consumption in air conditioners?
,;j daMh'kuj esa vf/kd fctyh [kir ds fy, fdl bysfDVªd lfdZV dk mi;ksx fd;k
tkrk gS\

A).     

B).     



10 ,Eih;j djaV jsfVax lfdZV

15 Amperes current rating circuits
15 ,Eih;j djaV jsfVax lfdZV

20 Amperes current rating circuits
20 ,Eih;j djaV jsfVax lfdZV

To manage the motor's speed by transforming utility power into adjustable frequency power.
;wfVfyVh 'kfä dks vMtLVscy ÝhDosalh 'kfä esa ifjofrZr djds eksVj dh xfr dks çcaf/kr djuk

To control the motor's operation by motor control inputs and outputs.
eksVj fu;a=.k buiqV vkSj vkmViqV }kjk eksVj ds lapkyu dks fu;af=r djuk]

To convert the electrical power into mechanical power.
bysfDVªDy ikoj dks eSdsfudy ikoj esa ifjofrZr djuk

None of these
इनमें से कोई नहीं

1–B, 2-C, 3-A

1–A, 2-C, 3-B

1–C, 2-B, 3-A

1–B, 2-A, 3-C

It flows in one direction in the circuit.
;g lfdZV esa ,d fn'kk esa çokfgr gksrh gS

It travels long distance and can provide more power.
;g yach nwjh r; djrk gS vkSj vf/kd 'kfä çnku dj ldrk gS

It can be stored in batteries.
bls cSVjh esa LVksj fd;k tk ldrk gS

None of these
इनमें से कोई नहीं

C).     [Correct Answer]     

D).     

Q.128. What is the function of the operator interface component in AC drives?
AC Mªkbo esa v‚ijsVj baVjQsl ?kVd dk D;k dk;Z gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.129. Match the electrical wiring accessories given in Column 1 with their respective uses given in Column 2.
dkWye 1 esa fn, x, fo|qr rkjksa ds lkeku dks dkWye 2 esa fn, x, muds lacaf/kr mi;ksxksa ls feyk,a

A).     [Correct Answer]     

B).     

C).     

D).     

Q.130. What is the advantage of alternating current over direct current?
Mk;jsDV djaV dh rqyuk esa vYVsjusfVax djaV dk D;k ykHk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.131. What is the effect of an improved power factor on the voltage drop in the transmission line?
Vªkalfe'ku ykbu esa oksYVst Mª‚i ij csgrj ikoj QSDVj dk D;k çHkko iM+rk gS\



Increases
c<+rk gS

Decreases
?kVrk gS

Remains Constant
,d lkeku jgrk gS

Zero
'kwU;

A and B
A vkSj B

B and C
B vkSj C
A, B and C
A, B vkSj C
A and C
A vkSj C

Atoms with fewer than four valence electrons
pkj ls de oSysal bysDVª‚u okys ,VEl

Atoms with more than four valence electrons
pkj ls vf/kd oSysal bysDVª‚uksa okys ,VEl

Atom with zero electron
'kwU; bysDVª‚u okyk ,Ve

Atoms with four valence electrons
pkj la;kstdrk bysDVª‚uksa okys ,VEl

By changing the frequency
QzhDosalh cnydj

By maintaining v/f constant
v/f dkaLVsaV cuk, j[kdj

By converting AC into DC
AC dks DC esa ifjofrZr djds

By changing the voltage
oksYVst cnydj

A).     

B).     [Correct Answer]     

C).     

D).     

Q.132. Which test is used for the inspection and testing of wiring installations?
A. Earth Continuity Test
B. Signal Testing
C. Insulation Resistance Test
ok;fjax çfr"Bkuksa ds fujh{k.k vkSj ijh{k.k ds fy, fdl VsLV dk mi;ksx fd;k tkrk gS\
A. अर्थ fujarjrk ijh{k.k
B- flXuy ijh{k.k
C- bUlqys'ku çfrjks/k ijh{k.k

A).     

B).     

C).     

D).     [Correct Answer]     

Q.133. What number of valence electrons in an atom makes it a semiconductor?
fdlh ijek.kq esa la;ksth bysDVª‚uksa dh fdruh la[;k mls v/kZpkyd cukrh gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.134. How is it possible to achieve constant flux to maintain speed control of a 3-phase induction
motor?
3&चरण baMD'ku eksVj dh xfr fu;a=.k cuk, j[kus ds fy, fujarj ¶yDl çkIr djuk dSls
laHko gS\

A).     

B).     [Correct Answer]     

C).     

D).     



A

B

C

Both A and B
A vkSj B nksuksa

Star connection
LVkj dusD'ku

Delta connection
MsYVk dusD'ku

Star-delta connection
LVkj&MsYVk dusD'ku

Delta-delta connection
MsYVk&MsYVk dusD'ku

Direct Deflection Method
Mk;jsDV fM¶ysD'ku fof/k

Loss of Charge Method
y‚l pktZ fof/k

Megohm Bridge
esaxksge fczt

Wheatstone Bridge
OghVLVksu fczt

Q.135. Which of the following is the biasing condition of the PN Junction Diode for the given circuit?

fuEufyf[kr esa ls dkSu fn, x, lfdZV ds fy, ih,u taD'ku Mk;ksM dh iwokZxzg fLFkfr gS\
A. Forward biasing/QkjoMZ ok;flax
B. Reverse biasing/fjolZ ok;flax
C. Zero or Unbaising/t+hjks ;k vuok;flax

A).     

B).     [Correct Answer]     

C).     

D).     

Q.136. Which type of circuit connection is shown in the given image?
Nfo esa uhps fdl çdkj dk lfdZV dusD'ku fn[kk;k x;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.137. Which of the following methods is used to measure medium resistance (1  to about 100 k )?
e/;e çfrjks/k ¼1  ls yxHkx 100 k ½ dks ekius ds fy, fuEufyf[kr esa ls fdl fof/k dk
mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.138. Which type of special circuit diagram is shown in the given image?
fdl çdkj dk fo'ks"k lfdZV vkjs[k uhps fn[kk;k x;k gS\



Tunnel wiring circuit
Vuy ok;fjax lfdZV

Godown wiring circuit
xksMkmu ok;fjax lfdZV

Corridor wiring circuit
d‚fjMksj ok;fjax lfdZV

None of these
इनमें से कोई नहीं

Mercury-Vapor Lamps
ejdjh osij ySEIl

Fluorescent Lamps
¶yqjkslsaV ySEIl

Incandescent Lamps
badaMslsaV ySEIl

Tungsten Halogen Lamps
VaxLVu gykstu ySEIl

Cleat wiring
DySV ok;fjax

Batten wiring
cSVu ok;fjax

Casing and Capping Wiring
dsflax vkSj dSfiax ok;fjax

Lead Sheathed Wiring
yhM 'khFk ok;fjax

Triangle wave
f=dks.kh; वेव
Square wave

A).     

B).     [Correct Answer]     

C).     

D).     

Q.139. In which type of lamp, the emission of light can be caused through filament heating?
fdl çdkj ds ySai esa fQykesaV ghfVax ds ek/;e ls çdk'k dk mRltZu gks ldrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.140. Which type of wiring consists of ordinary VIR or PVC insulated wires that are installed on the
walls and ceilings?
fdl çdkj dh ok;fjax esa lk/kkj.k ohvkbZvkj ;k ihohlh balqysVsM rkj gksrs gSa tks nhokjksa
vkSj Nr ij yxk, tkrs gSa\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.141. Which waveform is commonly used to represent AC voltage and current?

AC oksYVst vkSj djaV dks n'kkZus ds fy, vkerkSj ij fdl rjax:i dk mi;ksx fd;k
tkrk gS\

A).     

B).     



pkSdksj वेव
Sine wave
lkbu वेव
Sawtooth wave
l‚VwFk वेव

Brazing
czsftax

Riveting
jSosfVax

Welding
osfYMax

Soldering
lksYMfjax

To convert AC into DC
AC dks DC esa cnyus ds fy,

To protect the battery from overheating
cSVjh dks T;knk xje gksus ls cpkus ds fy,

To transfer the load to a bypass AC input
yksM dks ck;ikl AC buiqV esa VªkalQj djus ds fy,

To provide surge protection in addition to the emergency power
vkikrdkyhu 'kfä ds vfrfjä ltZ lqj{kk çnku djus ds fy,

A, B and C
A, B vkSj C

C).     [Correct Answer]     

D).     

Q.142. Which of the following techniques is commonly used for soldering electrical conductors?
fuEufyf[kr esa ls dkSu lh rduhd vkerkSj ij fo|qr daMDVjksa dks Vkadk yxkus ds fy,
mi;ksx dh tkrh gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.143. With reference to the given image, why are surge suppressors used in off-line UPS?
nh xbZ Nfo ds lanHkZ esa] vkWQ&ykbu ;wih,l esa ltZ lçsllZ dk mi;ksx D;ksa fd;k tkrk
gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.144. Which of the three factors from the following determines the drop in armature reaction?
A. The load current.
B. The strength of the main magnetic field.
C. The strength of electric field.
D. The amount of armature winding flux.
fuEufyf[kr esa ls dkSu lk rhu dkjd vkesZpj çfrfØ;k esa fxjkoV dks fu/kkZfjr djrk gS\
A- yksM djaVA
B- eq[; pqacdh; {ks= dh rkdrA
C- fo|qr {ks= dh rkdrA
D- vkesZpj okbafMax ¶yDl dh ek=kA

A).     



A, C and D
A, C vkSj D
A, B and D
A, B vkSj D
B, C and D
B, C vkSj D

For accuracy and reliability
lVhdrk vkSj fo'oluh;rk ds fy,

For measuring high values
mPp ewY;ksa dks ekius ds fy,

For keeping the instrument clean
midj.k dks lkQ j[kus ds fy,

None of these
इनमें से कोई नहीं

Ohm.
vkse

Farad.
QSjM

Volt.
oksYV

Coulomb.
dwyEc

10

100

1000

100000

enlarging small signals.
NksVs flXuyksa dks cM+k

reducing a signal.
flXuy dks de

converting an ac signal into dc signal.
,lh flXuy dks Mhlh flXuy esa ifjofrZr

None of these
buesa ls dksbZ ugha

B).     

C).     [Correct Answer]     

D).     

Q.145. What is the need for calibration of measuring instruments?

eki midj.kksa ds va'kkadu dh D;k vko';drk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.146. The SI unit of electric Capacitance is

fo|qr /kkfjrk dh SI bdkbZ &&&&&&&& gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.147. 1kV = _____ volts.

1kV ¾ &&&&&&& oksYVA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.148. In amplifiers, transistors are used for
,EIyhQk;jksa esa VªkaftLVj dk mi;ksx &&&&&&&&& djus ds fy, fd;k tkrk gSA

A).     [Correct Answer]     

B).     

C).     

D).     



at the middle of
ds e/; esa

at the pole of
ds /kzqo ij

all over
ds loZ=

None of these
buesa ls dksbZ ugha

Current
/kkjk

Voltage
oksYVst

Power
'kfä

Resistance
çfrjks/k

Q.149. In a magnet, the magnetic field is strongest _______ the magnet.
fdlh pqacd esa] pqacdh; {ks= lcls etcwr pqacd &&&&&&&&& gksrk gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.150. Which of the following quantities remain the same in all parts of series circuit?
fuEufyf[kr esa ls dkSu lh ek=k J`a[kyk ifjiFk ds lHkh Hkkxksa esa leku jgrh gS\

A).     [Correct Answer]     

B).     

C).     

D).     


